

**

*

:

(Kadilar & Cingi ; 2005)

(MSE)

:

A new Separated Ratio Estimator in the stratified random sampling

Abstract :

The aim of this research is to find a new separated ratio estimator in the stratified random sampling ,three other estimators are compared with the new separated ratio estimator , namely : ordinary separated ratio estimator , combined ratio estimator, and the suggested ratio estimator by (Kadilar & Cingi ; 2005) . Using the (MSE) as a comparative criterion , we proved that our proposal estimator has more precision than the others . Many numerical and simulation examples have been applied .

Keywords :Stratified Random Sampling ;Ratio-Estimator; Mean Square Errors

تاريخ التسلم: 2009/2/ 9 تاريخ القبول: 2009/ 6 /10

(Kadilar & Cingi ; 2005)

.2

(Ratio Estimator in Simple and Stratified Random Sampling)

(x) (y)

(x) (y)

(y₁ , y₂ ,.....,y_n)

(x₁ , x₂ ,.....,x_n)

y

(y_i)

()

:

x

[(2001)]

$$\hat{R} = \frac{\bar{y}}{\bar{x}} = \frac{\sum_{i=1}^n y_i}{\sum_{i=1}^n x_i} = \frac{y}{x} \dots\dots (1)$$

:

()

...

$$R = \frac{\bar{Y}}{\bar{X}} = \frac{\sum_{i=1}^N X_i}{\sum_{i=1}^N Y_i} = \frac{Y}{X} \quad \dots\dots (2)$$

$$\hat{Y}_R = \bar{X} \hat{R} \quad \dots\dots (3)$$

$$V(\hat{Y}_R) = \frac{(1-f)}{n} [\sigma^2_{(y)} - 2R\sigma_{(xy)} + R^2\sigma^2_{(x)}] \quad \dots\dots (4)$$

$$: f = \frac{n}{N}$$

(h)

$$\hat{R}_h = \frac{\bar{y}_h}{\bar{x}_h} = \frac{y_h}{x_h}, \quad h = 1,2,3,\dots,L \quad \dots\dots(5)$$

(y, x)

(h)

: \bar{y}_h, \bar{x}_h

(h)

$$R_h = \frac{\bar{Y}_h}{\bar{X}_h} = \frac{Y_h}{X_h} \quad \dots\dots(6)$$

: (R)

[Taro Y. (1967)]

- Combined Ratio Estimator \hat{R}_C .1
- Separate Ratio Estimator \hat{R}_S .2

:

...

$$\hat{R}_C = \frac{\bar{y}_{st}}{\bar{x}_{st}} = \frac{\sum_{h=1}^L N_h \bar{y}_h}{\sum_{h=1}^L N_h \bar{x}_h} \dots\dots (7)$$

:

$$\hat{Y}_{RC} = \hat{R}_C \bar{X} \dots\dots (8)$$

:

$$V(\hat{Y}_{RC}) = \sum_{h=1}^L W_h^2 \gamma_h (\sigma_{y_h}^2 - 2R\sigma_{x_h y_h} + R^2 \sigma_{x_h}^2) \dots\dots (9)$$

$$.h \quad W_h = \frac{N_h}{N} \quad . \quad f_h = \frac{n_h}{N_h} \quad , \quad \gamma_h = \frac{1 - f_h}{n_h} \quad :$$

:

$$\hat{R}_S = \frac{1}{\bar{X}} \sum_{h=1}^L \hat{R}_h X_h \dots\dots (10)$$

:

$$\hat{Y}_{RS} = \sum_{h=1}^L W_h \hat{R}_h \bar{X}_h \dots\dots (11)$$

:

$$V(\hat{Y}_{RS}) = \sum_{h=1}^L W_h^2 \gamma_h (\sigma_{y_h}^2 - 2R_h \sigma_{x_h y_h} + R_h^2 \sigma_{x_h}^2) \dots\dots$$

(12)

Mean Square Error of Ratio) : .3

[Kadilar and Cingi, (2004)](Estimator

,

:

$$\therefore \hat{R} = \frac{\bar{y}}{\bar{X}}$$

$$\therefore \hat{R} = R \left[1 + \frac{(\bar{y} - \bar{Y})}{\bar{Y}} - \frac{(\bar{x} - \bar{X})}{\bar{X}} + \frac{(\bar{x} - \bar{X})^2}{\bar{X}^2} - \frac{(\bar{x} - \bar{X})(\bar{y} - \bar{Y})}{\bar{X} \bar{Y}} + \dots\dots \right]$$

...

()

:

$$\hat{R} = R \left[1 + \frac{(\bar{y} - \bar{Y})}{\bar{Y}} - \frac{(\bar{x} - \bar{X})}{\bar{X}} \right]$$

$$\Rightarrow E(\hat{R}) = R$$

:

$$MSE(\hat{Y}_{RC}) = V(\hat{Y}_{RC}) = \sum_{h=1}^L W_h^2 \gamma_h (\sigma_{y_h}^2 - 2R\sigma_{x_h y_h} + R^2 \sigma_{x_h}^2) \dots\dots$$

(13)

: (\hat{Y}_{RC})

$$E(\hat{Y}_{RC} - \bar{Y}) = \frac{1}{\bar{X}} \sum_{h=1}^L W_h^2 \gamma_h (R\sigma_{x_h}^2 - \sigma_{x_h y_h}) \dots\dots (14)$$

:

$$MSE(\hat{Y}_{RS}) = V(\hat{Y}_{RS}) = \sum_{h=1}^L W_h^2 \gamma_h (\sigma_{y_h}^2 - 2R_h \sigma_{x_h y_h} + R_h^2 \sigma_{x_h}^2) \dots\dots (15)$$

: (\hat{Y}_{RS})

$$E(\hat{Y}_{RS} - \bar{Y}) = \frac{1}{\bar{X}} \sum_{h=1}^L W_h^2 \gamma_h (R_h \sigma_{x_h}^2 - \sigma_{x_h y_h}) \dots\dots (16)$$

: (The Suggested Ratio Estimator) : .4

[Kadilar and Cingi, (2005)]

(Kadilar & Cingi)

:

$$\hat{Y}_{RC(KC)} = k \hat{Y}_{RC} \dots\dots (17)$$

(k)

$$k = \frac{\bar{Y}^2}{\bar{Y}^2 + \text{Var}(\hat{Y}_{RC})}$$

$$\hat{\bar{Y}}_{RS(Pr.)} = k^* \hat{\bar{Y}}_{RS} \quad \dots \quad (18)$$

$$\begin{aligned} \text{MSE}(\hat{\bar{Y}}_{RS(Pr.)}) &= \text{E}(\hat{\bar{Y}}_{RS(Pr.)} - \bar{Y})^2 \\ &= \text{E}(k^* \hat{\bar{Y}}_{RS} - \bar{Y})^2 \\ &= \text{E}(k^{*2} \hat{\bar{Y}}_{RS}^2 - 2k^* \hat{\bar{Y}}_{RS} \bar{Y} + \bar{Y}^2) \\ &= k^{*2} \text{E}(\hat{\bar{Y}}_{RS}^2) - 2k^* \bar{Y} \text{E}(\hat{\bar{Y}}_{RS}) + \bar{Y}^2 \\ & \quad : \quad (k^{*2} \bar{Y}^2) \\ &= k^{*2} \text{E}(\hat{\bar{Y}}_{RS}^2) - 2k^* \bar{Y} \bar{Y} + \bar{Y}^2 + k^{*2} \bar{Y}^2 - k^{*2} \bar{Y}^2 \\ &= k^{*2} \text{E}(\hat{\bar{Y}}_{RS}^2) - 2k^* \bar{Y}^2 + \bar{Y}^2 + k^{*2} \bar{Y}^2 - k^{*2} [\text{E}(\hat{\bar{Y}}_{RS})]^2 \\ &= k^{*2} [\text{E}(\hat{\bar{Y}}_{RS}^2) - \{\text{E}(\hat{\bar{Y}}_{RS})\}^2] + \bar{Y}^2 (k^* - 1)^2 \\ &= k^{*2} \text{V}(\hat{\bar{Y}}_{RS}) + \bar{Y}^2 (k^* - 1)^2 \end{aligned}$$

$$\therefore \text{MSE}(\hat{\bar{Y}}_{RS(Pr.)}) = k^{*2} \sum_{h=1}^L W_h^2 \gamma_h (\sigma_{y_h}^2 - 2R_h \sigma_{x_h y_h} + R_h^2 \sigma_{x_h}^2) + \bar{Y}^2 (k^* - 1)^2$$

... (19)

$$\frac{\partial \text{MSE}(\hat{\bar{Y}}_{RS(Pr.)})}{\partial k^*} = 2k^* \sum_{h=1}^L W_h^2 \gamma_h (\sigma_{y_h}^2 - 2R_h \sigma_{x_h y_h} + R_h^2 \sigma_{x_h}^2) + 2\bar{Y}^2 (k^* - 1) = 0$$

$$2k^* \text{V}(\hat{\bar{Y}}_{RS}) + 2\bar{Y}^2 k^* - 2\bar{Y}^2 = 0$$

$$2k^* [\text{V}(\hat{\bar{Y}}_{RS}) + \bar{Y}^2] = 2\bar{Y}^2$$

$$\therefore k^* = \frac{\bar{Y}^2}{\bar{Y}^2 + \text{Var}(\hat{\bar{Y}}_{RS})} = \frac{\bar{Y}^2}{\bar{Y}^2 + \sum_{h=1}^L W_h^2 \gamma_h (\sigma_{y_h}^2 - 2R_h \sigma_{x_h y_h} + R_h^2 \sigma_{x_h}^2)} \quad (20)$$

$$. (0 < k^* < 1) :$$

...

(Precision of Suggested Estimator) : .5

(MSE) (MSE)

:

$$\text{Let } V = \sum_{h=1}^L W_h^2 \gamma_h (\sigma_{y_h}^2 - 2R_h \sigma_{x_h y_h} + R_h^2 \sigma_{x_h}^2)$$

$$MSE(\hat{Y}_{RS(Pr.)}) < MSE(\hat{Y}_{RS})$$

$$MSE(\hat{Y}_{RS(Pr.)}) - MSE(\hat{Y}_{RS}) < 0$$

$$k^{*2} V(\hat{Y}_{RS}) + \bar{Y}^2 (k^* - 1)^2 - V(\hat{Y}_{RS}) < 0$$

$$k^{*2} V - V + \bar{Y}^2 (k^* - 1)^2 < 0$$

$$V (k^{*2} - 1) + \bar{Y}^2 (k^* - 1)^2 < 0$$

$$V (k^* - 1)(k^* + 1) + \bar{Y}^2 (k^* - 1)(k^* - 1) < 0$$

$$(k^* - 1) [V (k^* + 1) + \bar{Y}^2 (k^* - 1)] < 0$$

$$: \quad . (0 < k^* < 1) \quad (k^* - 1) < 0 :$$

$$V (k^* + 1) + \bar{Y}^2 (k^* - 1) > 0$$

$$V k^* + V + \bar{Y}^2 k^* - \bar{Y}^2 > 0$$

$$V k^* + \bar{Y}^2 k^* + V - \bar{Y}^2 > 0$$

$$k^* (\bar{Y}^2 + V) - (\bar{Y}^2 - V) > 0$$

$$\therefore k^* > \frac{(\bar{Y}^2 - V)}{(\bar{Y}^2 + V)} \quad \dots\dots (21)$$

$$, (21) \quad (\quad)$$

...

: .6

:

:

(100)

(2) (1)

[William G. Cochran ,(1977)] .

(1)

Strat a	N_h	n_h	\bar{X}_h	\bar{Y}_h	R_h	W_h	$\sigma_{x_h}^2$	$\sigma_{y_h}^2$	$\sigma_{x_h y_h}$	γ_h
I	47	18	53.8 0	69.4 8	1.291 4	0.183 6	518 6	869 9	6462	0.034 3
II	11 8	46	31.0 7	43.6 4	1.404 6	0.460 9	236 7	461 4	3100	0.013 3
III	91	36	56.9 7	66.3 9	1.165 4	0.596 2	487 7	731 1	4817	0.016 8
	N	n	\bar{X}	\bar{Y}	R					
	25 6	10 0	44.4 5	56.4 7	1.270 4					

(2)

		(MSE)	(k)	$\frac{(\bar{Y}^2 - V)}{(\bar{Y}^2 + V)}$
(Combined)	$\hat{\bar{Y}}_{RC}$	19.88846075	0.993801803	0.987603606
	$\hat{\bar{Y}}_{RC(KC)}$	19.76518815		
(Separate)	$\hat{\bar{Y}}_{RS}$	18.53905671	0.994219911	0.988439822
	$\hat{\bar{Y}}_{RS(Pr.)}$	18.43189931		

...

(2)

(21)

:

(140)

(4) (3)

[Kadilar and Cingi, (2005)] .

(3)

Strata	N_h	n_h	\bar{X}_h	\bar{Y}_h	R_h	W_h	$\sigma_{x_h}^2$	$\sigma_{y_h}^2$	$\sigma_{x_h y_h}$	γ_h
I	106	9	24375	1536	0.0630	0.1225	2419557721	41280625	259152246.5	0.102
II	106	17	27421	2212	0.0807	0.1225	3301766521	133448704	570858945.9	0.049
III	94	38	72409	9384	0.1296	0.1096	25842813049	894428649	4326983639	0.016
IV	171	67	74365	5588	0.0751	0.2	81569073609	820421449	8098721462	0.009
V	204	7	26441	967	0.0366	0.2388	2061432409	5712100	77044350.7	0.138
VI	173	2	9844	404	0.0410	0.2025	353214436	894916	15823420.36	0.006
	N	n	\bar{X}	\bar{Y}	R					
	854	140	37600	2930	0.07793					

...

(4)

		(MSE)	(k)	$\frac{(\bar{Y}^2 - V)}{(\bar{Y}^2 + V)}$
(Combined)	$\hat{\bar{Y}}_{RC}$	212011.896	0.975	0.951798563
	$\hat{\bar{Y}}_{RC(KC)}$	206909.3711		
(Separate)	$\hat{\bar{Y}}_{RS}$	159137.3878	0.981800468	0.963600936
	$\hat{\bar{Y}}_{RS(Pr.)}$	156241.1618		

(4)

(21)

: -7

(Y_{hi}, X_{hi})

[Chrishtopher Z. M. , (1997)]:

$$Y_{hi} = (1 - \alpha^2)^{1/2} Z_{hi}^* + \alpha Z_{hi}$$

$$X_{hi} = (1 - \alpha^2)^{1/2} Z_{hi}^{**} + \alpha Z_{hi}$$

(h) (Y_{hi}, X_{hi}) : α

: (Z_{hi}^*, Z_{hi}^{**})

(1) (0) : Z_{hi}

:

$$n = \frac{N t^2 \sum_{i=1}^N (Y_i - R X_i)^2}{N(N-1) d^2 \bar{X}^2 + t^2 \sum_{i=1}^N (Y_i - R X_i)^2}$$

:

: _____

(5)

Strata	N_h	n_h	\bar{X}_h	\bar{Y}_h	R_h	W_h	$\sigma_{x_h}^2$	$\sigma_{y_h}^2$	$\sigma_{x_h y_h}$
I	5000	197	24697	2979	0.120622	0.122	346257664	5108052.01	34485871.46
II	4500	282	26059	4706.8	0.180621	0.122	391604521	12984491.56	61324607.04
III	3750	548	61324	10901	0.177761	0.110	2204396401	70324996	354357977.4
IV	3000	131	32875	3226.8	0.098154	0.200	642521104	6265009	62811583.56
v	2750	52	30243	1475.1	0.048633	0.239	493328521	1155840.01	16954122.73
VI	2500	12	7786	367.33	0.047178	0.202	33252829	74643.7041	1402285.842
	N	n	\bar{X}	\bar{Y}	R				
	21500	1222	37600	2930	0.07793				

(6)

		(MSE)	(k)	$\frac{(\bar{Y}^2 - V)}{(\bar{Y}^2 + V)}$
(Combined)	\hat{Y}_{RC}	53989.76964	0.997034482	0.994068965
	$\hat{Y}_{RC(KC)}$	53829.66203		
(Separate)	\hat{Y}_{RS}	13481.01937	0.999257871	0.998515743
	$\hat{Y}_{RS(Pr.)}$	13471.01472		

...

(6)

(21)

(7)

Strata	N_h	n_h	\bar{X}_h	\bar{Y}_h	R_h	W_h	$\sigma_{x_h}^2$	$\sigma_{y_h}^2$	$\sigma_{x_h y_h}$
I	985	62	26168	5141	0.1965	0.1836	327067225	9979281	45704412
II	2196	48	34161	1763.4	0.0516	0.4610	445547664	1203847.84	21306921.79
III	1020	8	5186	490.2	0.0945	0.5962	10291264	146156.29	956606.352
	N	n	\bar{X}	\bar{Y}	R				
	4201	118	25252	2246.2	0.0890				

(8)

		(MSE)	(k)	$\frac{(\bar{Y}^2 - V)}{(\bar{Y}^2 + V)}$
(Combined)	\hat{Y}_{RC}	8861.382544	0.9982	0.9965
	$\hat{Y}_{RC(KC)}$	8845.846372		
(Separate)	\hat{Y}_{RS}	5718.817436	0.9989	0.9977
	$\hat{Y}_{RS(Pr.)}$	5712.342677		

(8)

(21)

...

: **.8**

-1

[(8) (6) (4) (2)]

-2

(21)

-3

: **-9**

" (2001)

-1

-

" ()

2-Christopher, Z. M. , (1997)," Monte Carlo Simulation", SAGE publication , New Delhi .

3- Kadilar C. and Cingi H. , (2004) , " Ratio Estimator in Simple Random Sampling " ,Applied Mathematics and computation ,151, PP.(893-902).

4- _____ , (2005) , "A New Ratio Estimator in Stratified Random Sampling " , Communications in statistics Theory and methods , 34, PP.(597-602).

5- Taro Yamane , (1967) , "Elementary Sampling Theory " , Prentice Hall ,Inc., Englewood Cliffs ,N.J. Inc. ,USA .

6- William G. Cochran , (1977) , " Sampling Techniques " , 3rd. edition , John Wiley & Sons , Inc. ,USA